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ST. ANDREW'S JUNIOR SCHOOL

PRIMARY 1 MATHEMATICS 2014

Topics: Numbers to 48, Subtraction within 20, Addition wsthm 40
Topical Tesi 2

Name: { ) PDate:

Primary 1 — Marks:

20

Show yeur working in the space below each question clearly and write your
answers in the spaces provided. {10 x 2 = 20 marks)

1) Write 39 in words. (1m)

2} Clrcle the correct answer.
Which two numbers have a difference of 87 (2m)

19-9 18-9 - 20 - 12

3) Circle the correct answer.
Which two numbers have the sum of 407 {(2m)

38+ 11 9 + 11 19 + 11
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4) Complete the following guestions (8m)

-a) 19 c)y 29
-7 o+ 4
by 32 d 22
+1 5 +1 8
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5) Show the following number statement by crossing out the correct number of
items and fill in the blank. (2m)

N
0
g
L1 0]
au

ENNNEANENE

20 —-12=

8} Shade three dotted cards to show the sum of 19. (2m)
00 ||O0O0 O OO OO0| [0OOOO
OO0 OO0 o000 | 1000

7) MrWang made 7 teddy bears.
He made 9 toy cars. ‘
How many toys did he make altogether? (3m)

OL 1O

Mr Wang made toys.

End of Paper
Have you checked your work?
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SUBJECT: MATHEMATICS
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